

Page 1 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUP				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	7,736.00000	7,736.00	5,000.00000	5,000.00		
_	RMANCE BOND AND NT BOND	DOLL						
0002	152015P	1.000	1.00000	1.00	23,000.00000	23,000.00		
POLLUT	ION LIABILITY INSUF	RANCE DOLL						
0003	MMB091M	100,000.000	1.00000	100,000.00	1.00000	100,000.00		
	ACCOUNT, LABOR, ENT AND MATERIAL	DOLL S						
0004	MMR006M	10.000	1,000.00000	10,000.00	1,000.00000	10,000.00		
EMERGI	ENCY MOBILIZATION	I U						
0005	MMG018M	500.000	1.00000	500.00	1.00000	500.00		
FIELD O	FFICE EQUIPMENT	DOLL						



Page 2 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CON GROUI			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0006 605009P	3,000.000	67.00000	201,000.00	94.75000	284,250.00		
CHAIN-LINK FENCE, ALU COATED STEEL, 6' HIGH							
0007 605027P	1,500.000	67.00000	100,500.00	99.25000	148,875.00		
CHAIN-LINK FENCE, PVC STEEL, 6' HIGH	C-COATED LF						
0008 605060M	3.000	0.01000	0.03	360.00000	1,080.00		
GATE, CHAIN-LINK FENC ALUMINUM COATED STE WIDE							
0009 605066M	3.000	0.01000	0.03	750.00000	2,250.00		
GATE, CHAIN-LINK FENC ALUMINUM COATED STE WIDE							



Page 3 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CON GROUP			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0010 605069M	3.000	0.01000	0.03	925.00000	2,775.00		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	, 10'						
0011 605072M	3.000	0.01000	0.03	960.00000	2,880.00		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	, 12'						
0012 605081M	3.000	0.01000	0.03	1,275.00000	3,825.00		
GATE, CHAIN-LINK FENCE, ALUMINUM COATED STEEL WIDE	, 16'						
0013 605099M	3.000	0.01000	0.03	535.00000	1,605.00		
GATE, CHAIN-LINK FENCE, COATED STEEL, 4' WIDE	PVC- U						



Page 4 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUP				
Alt Set / A	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0014 6	605105M	3.000	0.01000	0.03	860.00000	2,580.00		
	IN-LINK FENCE, PVC FEEL, 8' WIDE	- U						
0015 6	605108M	3.000	0.01000	0.03	1,400.00000	4,200.00		
,	IN-LINK FENCE, PVC ΓΕΕL, 10' WIDE	- U						
0016 6	605111M	3.000	0.01000	0.03	1,450.00000	4,350.00		
	IN-LINK FENCE, PVC ΓEEL, 12' WIDE	- U						
0017 6	605120M	3.000	0.01000	0.03	1,900.00000	5,700.00		
	IN-LINK FENCE, PVC ΓΕΕL, 16' WIDE	- U						
0018 6	605174M	2,000.000	60.00000	120,000.00	74.22000	148,440.00		
REPAIRING	CHAIN-LINK FENCE	LF						



Page 5 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CON GROUI				
Alt Set /	Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0019	605212P	1,000.000	60.00000	60,000.00	74.22000	74,220.00		
RESET FE	ENCE	LF						
0020	605212P	250.000	150.00000	37,500.00	144.65000	36,162.50		
RESET FE	ENCE (BARRIER CURE D FENCE)	B LF						
0021	605175M	770.000	150.00000	115,500.00	144.65000	111,380.50		
BARRIER	CURB MOUNTED FEN	ICE LF						
0022	605152M	2.000	0.01000	0.02	4,625.00000	9,250.00		
SLIDING O	GATE, SECURITY FEN	CE, U						
0023	802003M	25.000	25.00000	625.00	120.00000	3,000.00		
	S EXISTING TREE, OV DIAMETER	ER U						



Page 6 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUP			
Alt Set / Alt Memb	er Quantity	y and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION : 0001	RO	ADWAY		Cat Alt	Set:	Cat A	It Member:	
0024 802006M		3.000	25.00000	75.00	120.00000	360.00		
TRIMMING EXISTIN 12" TO 18" DIAMETE	,	U						
0025 802009M		3.000	25.00000	75.00	120.00000	360.00		
TRIMMING EXISTIN 18" TO 24" DIAMETE	,	U						
0026 802012M		3.000	25.00000	75.00	120.00000	360.00		
TRIMMING EXISTIN 24" TO 30" DIAMETE	,	U						
0027 802015M		3.000	25.00000	75.00	120.00000	360.00		
TRIMMING EXISTIN 30" TO 36" DIAMETE	,	U						



Page 7 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		ATED STEEL & ENCE CO., INC.	(2) IEW CON GROU				
Alt Set / Alt Member	Quantity and U	nits Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWA	Y	Cat Al	t Set:	Cat A	It Member:	
0028 802018M	3.00	0 25.00000	75.00	120.00000	360.00		
TRIMMING EXISTING T 36" DIAMETER	REE, OVER	J					
0029 802021M	25.00	0 50.00000	1,250.00	300.00000	7,500.00		
TREE REMOVAL, OVE DIAMETER	R 6" TO 12"	J					
0030 802024M	3.00	0 50.00000	150.00	300.00000	900.00		
TREE REMOVAL, OVE DIAMETER	R 12" TO 18"	J					
0031 802027M	3.00	0 250.00000	750.00	300.00000	900.00		
TREE REMOVAL, OVE DIAMETER	R 18" TO 24"	J					



Page 8 of 8

Contract ID: 22424 Counties: BERGEN, ESSEX, HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 District(s): N4

Call Order: 424 Project(s): STATE

Contract Time: 06/30/24 COMPLETION DATE Min: Max:

Contract Description: Maintenance Fence Repair Contract, North - 2022

Line No / Item ID Item Description		(1) CONSOLIDA ALUMINUM FEI		(2) IEW CONS GROUF			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0032 802030M	3.000	750.00000	2,250.00	300.00000	900.00		
TREE REMOVAL, OVER 24 DIAMETER	" TO 30" U						
0033 802033M	3.000	1,250.00000	3,750.00	300.00000	900.00		
TREE REMOVAL, OVER 30 DIAMETER	" TO 36" U						
0034 802036M	3.000	1,500.00000	4,500.00	300.00000	900.00		
TREE REMOVAL, OVER 36 DIAMETER	" U						
Section Totals:			\$766,387.32		\$999,123.00		
Co	entract Totals		\$766,387.32		\$999,123.00		
Cost	Plus Time Totals		\$766,387.32		\$999,123.00		

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 424 Contract ID: 22424 Counties: BERGEN, ESSEX,

HUDSON, MORRIS, PASSAIC, SUSSEX,

UNION

Letting Date: January 25, 2022 10:00 AM District(s): N4

Contract Time: 06/30/24 COMPLETION DATE

Contract Description: Maintenance Fence Repair Contract, North - 2022 Project(s): STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	C6437	CONSOLIDATED STEEL & ALUMINUM FENCE CO., INC.	\$766,387.32	100.00%
2		IEW CONSTRUCTION GROUP, INC.	\$999,123.00	130.37%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.